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2005
ZOOLOGY

Paper 2

Time : 3 Hours | { Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No eredit will be given for the
answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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10.

PART B 10x10=1060

Answer each question in about 100 words. Each question carries
10 marks.

Name and explain  the second law  of Mendel. What  fortunate
circumstance favoured Mende! in obtaining the classical di-hybrid ratio ?

Give a brief idea about the various patterns of cleavage.
What is the significance of Hardy-Weinberg law ?

What is ‘Muscle’ » Distinguish between muscle, muscle fibre, myo-fibril
and myo-filament, -

Give the faunal diversity in the Zoogeographic realm of Australia.
What is ‘Placenta’ Give its funetional significance,

How can pheromones be used in controlling insect population ?
Explain the mechanism  of action of peptide hormones.

Explain “Glucose homeostasis” and give a schematic diagram showing the
interre]ationship between the hormonoes of feading and fasting.
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Answer egep, Qlestion ipn about  15¢ words. Eqeh question corries
15 marks.
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PART D 9x30=

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

Write a comprehensive account of hormonal control of the menstrual
cycle.

Explain the working mechanism of lac Operon.

What is ‘Speciation’ ? Explain the varions isolating mechanisms favouring

speciation.

Explain the various structural models of plasma membrane. Add a note
on the functions of plasma membrane.

Explain what is used, what is produced and what is accomplished by the
Krebs citric acid cycle.
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